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* ”'.3 Evaluate the transfer functions T,(¢) = Y()/U(s) and Ty(s) = Z(s)/U(s) 45
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13.4 Draw block diagrams for each of the following sets of state-variabla eqLations.
a) &= —dx+ 6y + 2uln)
1I = —2.& = 3_'-

b} ¥y ==3x ¢ Sxy + 3u(r)
= dx; = 6ry — u(y)

€) f=uw
W= —88 —4a 4 2
3:;@—3.1'1"“{!}
3 * (5
&Y,
Ve + SEQ) \If-&'l
: ]
| «f—

o~
l S Yisy - _}‘1?1______* Y 5\

|

i L N p-'nl-ulJ waa g .
Lete i WL o a{-umé 1hey i e

.



Hus v

" Lael l::u“l.é?.-r_r clhigdaw et -wie Ilmc-f.ﬂ.alea,ﬂ_,

LN borneduit 1

k)



Hia [~ &
13.6 Draw block diagrams for gach of the following input-output models.
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In Problems 13.24 through 13.26, determine the closed-loop transfer function ¥is)/U(s)
as 4 rational function of s for the block diagram shown in the figure cited.
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13.25 Figure P13.25.
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13.33 a) Find the closed-loop transfer function Tish = ¥ish/Uls) a5 a ratio of
polynomials for the block diagram shown in Fipure P13.33.
b) Express the damping ratio ¢ and the undamped natural frequency w, in
terms of K. Show that bath pales of Tis) are on the negative real axiz for
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